

RIEMANN SOLITONS IN PARA SASAKIAN MANIFOLDS ADMITTING DIFFERENT SEMI-SYMMETRIC STRUCTURES

RAGHUJYOTI KUNDU¹, ASHOKE DAS², RANJIT SAIBYA³ AND ASHIS
BISWAS*

ABSTRACT. The object of the present paper is to study the Riemannian solitons on para Sasakian manifolds admitting $E \cdot R = 0$, $E \cdot P = 0$, $E \cdot E = 0$, $E \cdot P^* = 0$, $E \cdot \mathcal{M} = 0$, $E \cdot \mathcal{W}_i = 0$, $E \cdot \mathcal{W}_i^* = 0$, $R \cdot R = 0$, $R \cdot P = 0$, $R \cdot E = 0$, $R \cdot P^* = 0$, $R \cdot \mathcal{M} = 0$, $R \cdot \mathcal{W}_i = 0$, $R \cdot \mathcal{W}_i^* = 0$, $R \cdot K = 0$, $R \cdot C = 0$, $E \cdot C = 0$ and $E \cdot K = 0$, for $i = 1, 2, \dots, 9$.

Key Words: Riemannian soliton, para Sasakian manifold, semi-symetry.

2010 Mathematics Subject Classification: Primary: 53C15; Secondary: 53C25.

1. INTRODUCTION

The idea of Ricci flow was first introduced by R. S. Hamilton [18] in 1982. This concept generalized to the idea of Riemann flow ([2], [3]). Keeping the tune with Ricci soliton, Hirica and Udriste [14] introduced and discussed Riemann soliton. The Ricci flow is an evolution equation for metrics on a Riemannian manifold defined as follows

$$\frac{\partial}{\partial t} G(t) = -2R(g(t)), \quad t \in [0, I],$$

where $G = \frac{1}{2}g \otimes g, \otimes$ is the Kulkarni-Nomizu product and R is the Riemann curvature tensor associated to the metric g . For $(0, 2)$ -tensors

Received: 18 December 2021, Accepted: 10 December 2022. Communicated by Dariush Latifi;

Address correspondence to Ashis Biswas; E-mail: biswasashis9065@gmail.com.

© 2022 University of Mohaghegh Ardabili.

α and β , the Kulkarni-Nomizu product $(\alpha \otimes \beta)$ is given by

$$\begin{aligned} & (\alpha \otimes \beta)(Y, U, V, Z) \\ &= \alpha(Y, V)\beta(U, Z) + \alpha(U, Z)\beta(Y, V) \\ (1.1) \quad & -\alpha(Y, Z)\beta(U, V) - \alpha(U, V)\beta(Y, Z). \end{aligned}$$

The authors Stepanov and Tsyganok [20] characterize the Riemann soliton in terms of infinitesimal harmonic transformation. The Riemann soliton is a smooth manifold M together with Riemannian metric g that satisfies

$$(1.2) \quad 2R + \lambda(g \otimes g) + (g \otimes \mathcal{L}_W g) = 0,$$

where W is a potential vector field, \mathcal{L}_V denotes the Lie-derivative along the vector field W and λ is a constant. The Riemann soliton also corresponds to the Riemann flow as a fixed point, and on the space of Riemannian metric modulo diffeomorphism they can be seen as a dynamic system. A Riemann soliton is called expanding, steady and shrinking when $\lambda > 0$, $\lambda = 0$ and $\lambda < 0$ respectively.

Definition 1.1. Let T and D be two tensors of type $(0, 4)$. A Riemannian (or semi-Riemannian) manifold is said to be D -semisymmetric type if $T(X, Y) \cdot D = 0$ for all $X, Y \in \chi(M)$, the set all vector fields of the manifold M where $T(X, Y)$ acts on D as derivation of tensor algebra. The above condition is often written as $T \cdot D = 0$. Especially, if we consider $T = D = R$, then the manifold is called semisymmetric [22]. Details about the semisymmetry and other conditions of semisymmetry type are available in : [6], [15], [4], [23] and also references therein.

In 2013, Kundu and Shaikh ([19], Table 2) investigated the equivalency of the various geometric structures. They have established the following conditions

i) $E \cdot R = 0, E \cdot P = 0, E \cdot E = 0, E \cdot P^* = 0, E \cdot \mathcal{M} = 0, E \cdot \mathcal{W}_i = 0$ and $E \cdot \mathcal{W}_i^* = 0$ (for all $i = 1, 2, \dots, 9$) are equivalent and named such a class by C_1 ;

ii) $R \cdot R = 0, R \cdot P = 0, R \cdot E = 0, R \cdot P^* = 0, R \cdot \mathcal{M} = 0, R \cdot \mathcal{W}_i = 0$ and $R \cdot \mathcal{W}_i^* = 0$ (for all $i = 1, 2, \dots, 9$) are equivalent and named such a class by C_2 ;

iii) $R \cdot K = 0$ and $R \cdot C = 0$ are equivalent and named such a class by C_3 ;

iv) $E \cdot C = 0$ and $E \cdot K = 0$ are equivalent and named such a class by C_4 ; where the symbols C, E, P, K, \mathcal{M} and \mathcal{W}_i stand for conformal curvature tensor [17], concircular curvature tensor [16], projective curvature

tensor [16], conharmonic curvature tensor [21], M -projective curvature tensor [11], \mathcal{W}_i -curvature tensor, ([11], [12], [13]) and \mathcal{W}_i^* -curvature tensor [11] respectively.

$$\begin{aligned}
 (1.3) \quad C(V, Y) &= R(V, Y) - \frac{1}{n-2} [(V \wedge_g QY) \\
 &\quad + (QV \wedge_g Y) + \frac{r}{\alpha} (V \wedge_g Y)], \\
 (1.4) \quad E(V, Y) &= R(V, Y) - \frac{r}{n(n-1)} (V \wedge_g Y), \\
 (1.5) \quad P(V, Y) &= R(V, Y) - \frac{1}{n-1} (V \wedge_S Y), \\
 K(V, Y) &= R(V, Y) \\
 (1.6) \quad &\quad - \frac{1}{n-2} [(V \wedge_g QY) + (QV \wedge_g Y)], \\
 \mathcal{M}(V, Y) &= R(V, Y) \\
 (1.7) \quad &\quad - \frac{1}{2\alpha} [(V \wedge_g QY) + (QV \wedge_g Y)], \\
 (1.8) \quad \mathcal{W}_0(V, Y) &= R(V, Y) - \frac{1}{\alpha} (V \wedge_g QY), \\
 (1.9) \quad \mathcal{W}_0^*(V, Y) &= R(V, Y) + \frac{1}{\alpha} (V \wedge_g QY), \\
 (1.10) \quad \mathcal{W}_1(V, Y) &= R(V, Y) - \frac{1}{\alpha} (V \wedge_S Y), \\
 (1.11) \quad \mathcal{W}_1^*(V, Y) &= R(V, Y) + \frac{1}{\alpha} (V \wedge_S Y), \\
 \mathcal{W}_2(V, Y) &= R(V, Y) \\
 (1.12) \quad &\quad - \frac{1}{\alpha} [(QV \wedge_g Y) + (V \wedge_g QY) - (V \wedge_S Y)], \\
 \mathcal{W}_2^*(V, Y) &= R(V, Y) \\
 (1.13) \quad &\quad + \frac{1}{\alpha} [(QV \wedge_g Y) + (V \wedge_g QY) - (V \wedge_S Y)], \\
 (1.14) \quad \mathcal{W}_3(V, Y) &= R(V, Y) - \frac{1}{\alpha} (Y \wedge_g QV), \\
 (1.15) \quad \mathcal{W}_3^*(V, Y) &= R(V, Y) + \frac{1}{\alpha} (Y \wedge_g QV), \\
 \mathcal{W}_5(V, Y) &= R(V, Y) \\
 (1.16) \quad &\quad - \frac{1}{\alpha} [(V \wedge_g QY) - (V \wedge_S Y)],
 \end{aligned}$$

$$(1.17) \quad \mathcal{W}_5^*(V, Y) = R(V, Y) + \frac{1}{\alpha} [(V \wedge_g QY) - (V \wedge_S Y)],$$

$$(1.18) \quad \mathcal{W}_7(V, Y) = R(V, Y) + \frac{1}{\alpha} [(QV \wedge_g Y) - (V \wedge_S Y)],$$

$$(1.19) \quad \mathcal{W}_7^*(V, Y) = R(V, Y) - \frac{1}{\alpha} [(QV \wedge_g Y) - (V \wedge_S Y)],$$

$$(1.20) \quad \mathcal{W}_4(V, Y)Z = R(V, Y)Z - \frac{1}{\alpha} [g(V, Z)QY - g(V, Y)QZ],$$

$$(1.21) \quad \mathcal{W}_4^*(V, Y)Z = R(V, Y)Z + \frac{1}{\alpha} [g(V, Z)QY - g(V, Y)QZ],$$

$$(1.22) \quad \mathcal{W}_6(V, Y)Z = R(V, Y)Z - \frac{1}{\alpha} [S(Y, Z)V - g(V, Y)QZ],$$

$$(1.23) \quad \mathcal{W}_6^*(V, Y)Z = R(V, Y)Z + \frac{1}{\alpha} [S(Y, Z)V - g(V, Y)QZ],$$

$$(1.24) \quad \mathcal{W}_8(V, Y)Z = R(V, Y)Z - \frac{1}{\alpha} [S(Y, Z)V - S(V, Y)Z],$$

$$(1.25) \quad \mathcal{W}_8^*(V, Y)Z = R(V, Y)Z + \frac{1}{\alpha} [S(Y, Z)V - S(V, Y)Z],$$

$$(1.26) \quad \mathcal{W}_9(V, Y)Z = R(V, Y)Z - \frac{1}{\alpha} [S(V, Y)Z - g(Y, Z)QV],$$

$$(1.27) \quad \mathcal{W}_9^*(V, Y)Z = R(V, Y)Z + \frac{1}{\alpha} [S(V, Y)Z - g(Y, Z)QV],$$

where

$$(1.28) \quad \alpha = (n - 1), \quad (V \wedge_B Y)Z = B(Y, Z)V - B(V, Z)Y.$$

The present paper is structured as follows. After introduction, in Section 2, we briefly recall a short description of para-Sasakian manifold. In section 3, we discussed Riemann solitons in para-Sasakian manifolds and in this case we obtained the Riemann soliton on M is always shrinking. Here also we studied the Riemann solitons in para-Sasakian manifold admitting $E \cdot R = 0$, $E \cdot P = 0$, $E \cdot E = 0$, $E \cdot P^* = 0$, $E \cdot \mathcal{M} = 0$, $E \cdot \mathcal{W}_i = 0$, $E \cdot \mathcal{W}_i^* = 0$, $R \cdot R = 0$, $R \cdot P = 0$, $R \cdot E = 0$, $R \cdot P^* = 0$, $R \cdot \mathcal{M} = 0$, $R \cdot \mathcal{W}_i = 0$, $R \cdot \mathcal{W}_i^* = 0$, $R \cdot K = 0$, $R \cdot C = 0$, $E \cdot C = 0$ and $E \cdot K = 0$. For all the cases we obtained the Riemann soliton on M is always shrinking.

2. PROPERTIES OF PARA-SASAKIAN MANIFOLD

Let M be an n -dimensional differentiable manifold with almost paracontact Riemannian structure (ϕ, ξ, η, g) consisting of $(1, 1)$ tensor field

ϕ , a 1-form η , a contravariant vector field ξ and an associated Riemannian metric g . Then it satisfies

$$(2.1) \quad \phi^2 V = -\eta(V)\xi + V, \quad \text{rank } \phi = n - 1$$

$$(2.2) \quad \eta(\xi) = 1, \eta(\phi V) = 0, \phi\xi = 0.$$

$$(2.3) \quad g(V, \phi Y) = g(\phi V, Y), g(V, \xi) = \eta(V), \forall V, Y \in TM$$

$$(2.4) \quad g(\phi V, \phi Y) = g(V, Y) - \eta(V)\eta(Y), g(QV, Y) = S(V, Y)$$

$$(2.5) \quad \nabla_V \xi = \phi V, d\eta = 0,$$

$$(2.6) \quad (\nabla_V \eta)Y = (\nabla_Y \eta)V = g(V, \phi Y).$$

An almost paracontact Riemannian manifold is called a P-Sasakian manifold if it satisfies

$$(2.7) \quad (\nabla_V \phi)Y = -g(V, Y)\xi - \eta(Y)V + 2\eta(V)\eta(Y)\xi.$$

In an n -dimensional para Sasakian manifold ([1], [7], [8], [9]) M , the curvature tensor R , the Ricci tensor S , and the Ricci operator Q satisfy

$$(2.8) \quad R(V, Y)\xi = \eta(V)Y - \eta(Y)V,$$

$$(2.9) \quad S(V, \xi) = -(n-1)\eta(V),$$

$$(2.10) \quad R(V, \xi)Y = g(V, Y)\xi - \eta(Y)V,$$

$$(2.11) \quad R(\xi, V)Y = \eta(Y)V - g(V, Y)\xi,$$

$$(2.12) \quad \eta(R(V, Y)U) = g(V, U)\eta(Y) - g(Y, U)\eta(V),$$

$$(2.13) \quad Q\xi = -(n-1)\xi,$$

$$(2.14) \quad S(\phi V, \phi Y) = S(V, Y) + (n-1)\eta(V)\eta(Y).$$

3. RIEMANN SOLITONS ADMITTING SEMI-SYMMETRIC STRUCTURES IN PARA SASAKIAN MANIFOLDS

In this section we consider a para Sasakian manifold $(M^n, g, \phi, \xi, \eta)$ admits an Riemann soliton. Then taking account (1.1), into (1.2), we obtain

$$(3.1) \quad \begin{aligned} & 0 \\ & = 2R(Y, U, V, Z) + 2\lambda[g(Y, V)g(U, Z) - g(Y, Z)g(U, V)] \\ & \quad + [g(Y, V)\mathcal{L}_\xi g(U, Z) + g(U, Z)\mathcal{L}_\xi g(Y, V) \\ & \quad - g(Y, Z)\mathcal{L}_\xi g(U, V) - g(U, V)\mathcal{L}_\xi g(Y, Z)]. \end{aligned}$$

Now by the help of (2.1), (2.3) and (2.5) we get

$$\begin{aligned}
 & \mathcal{L}_\xi g(V, Y) \\
 &= \mathcal{L}_\xi g(V, Y) - g([\xi, V], Y) - g(V, [\xi, Y]) \\
 (3.2) \quad &= 2g(\phi V, Y).
 \end{aligned}$$

Using (3.2) in (3.1), we get

$$\begin{aligned}
 & 0 \\
 &= 2R(Y, U, V, Z) + 2\lambda [g(Y, V)g(U, Z) - g(Y, Z)g(U, V)] \\
 & \quad + [2g(Y, V)g(\phi Z, U) + g(U, Z)g(\phi V, Y) \\
 (3.3) \quad & -g(Y, Z)g(\phi V, U) - g(U, V)g(\phi Z, Y)].
 \end{aligned}$$

By the suitable contraction of (3.3), we obtain

$$\begin{aligned}
 & S(U, V) \\
 (3.4) \quad &= \lambda(n - 1)g(U, V) + (n - 2)g(\phi U, V).
 \end{aligned}$$

Replacing $U = V = \xi$ in (3.4) also using (2.2) and (2.9), we get

$$(3.5) \quad \lambda = -1.$$

Thus we can state

Theorem 3.1. *If (g, ϕ, ξ, η) is a Riemann soliton on para Sasakian manifold M^n , then the Riemann soliton on M is always shrinking.*

3.1. Riemann solitons on para Sasakian manifolds admitting the class C_1 . Here, we choose para-Sasakian manifolds satisfying the condition

$$(3.6) \quad (E(X, Z) \cdot R)(Y, V)U = 0,$$

which implies

$$\begin{aligned}
 & g(E(\xi, Z)R(Y, V)U, \xi) - g(R(E(\xi, Z)Y, V)U, \xi) \\
 (3.7) \quad & -g(R(Y, E(\xi, Z)V)U, \xi) - g(R(Y, V)E(\xi, Z)U, \xi) = 0.
 \end{aligned}$$

By the help of (1.4), (2.8)-(2.13), we get the following

$$\begin{aligned}
 & g(E(\xi, Z)R(Y, V)U, \xi) \\
 &= R(Y, V, U, \xi)\eta(Z) - R(Y, V, U, Z) \\
 (3.8) \quad & -\frac{r}{n(n-1)}R(Y, V, U, Z) + \frac{r}{n(n-1)}R(Y, V, U, \xi)\eta(Z),
 \end{aligned}$$

$$\begin{aligned}
& g(R(E(\xi, Z)Y, V)U, \xi) \\
&= \eta(Y)R(Z, V, U, \xi) - g(Z, Y)R(\xi, V, U, \xi) \\
(3.9) \quad & -\frac{r}{n(n-1)}g(Z, Y)R(\xi, V, U, \xi) + \frac{r}{n(n-1)}\eta(Y)R(Z, V, U, \xi),
\end{aligned}$$

$$\begin{aligned}
& g(R(Y, E(\xi, Z)V)U, \xi) \\
&= \eta(V)R(Y, Z, U, \xi) - g(Z, V)R(Y, \xi, U, \xi) \\
(3.10) \quad & -\frac{r}{n(n-1)}g(Z, V)R(Y, \xi, U, \xi) + \frac{r}{n(n-1)}\eta(V)R(Y, Z, U, \xi),
\end{aligned}$$

$$\begin{aligned}
& g(R(Y, V)E(\xi, Z)U, \xi) \\
&= \eta(U)R(Y, V, Z, \xi) - g(Z, U)R(Y, V, \xi, \xi) \\
(3.11) \quad & -\frac{r}{n(n-1)}g(Z, U)R(Y, V, \xi, \xi) + \frac{r}{n(n-1)}\eta(U)R(Y, V, Z, \xi).
\end{aligned}$$

Using (3.8), (3.9), (3.10) and (3.11) in (3.7), then contracting over Y and Z we get

$$(3.12) \quad -\left[1 + \frac{r}{n(n-1)}\right]S(V, U) = \left[1 + \frac{r}{n(n-1)}\right](n-1)g(V, U).$$

In view of (3.4) and (3.12), we obtain

$$(3.13) \quad 0 = \left[1 + \frac{r}{n(n-1)}\right][(\lambda + 1)(n-1)g(V, U) + (n-2)g(\phi V, U)].$$

Replacing $U = V = \xi$ in (3.13) also using (2.2) and (2.9) it follows that

$$(3.14) \quad \lambda = -1, \quad \text{provided } n(n-1) + r \neq 0.$$

Thus we can state the following theorem.

Theorem 3.2. *If (g, ϕ, ξ, η) is a Riemann soliton on para Sasakian manifold M^n admitting the class C_1 , then the Riemann soliton on M is always shrinking.*

3.2. Riemann solitons on para Sasakian manifolds admitting the class C_2 . Here, we opt para-Sasakian manifolds satisfying the condition

$$(3.15) \quad (R(X, Z) \cdot R)(Y, V)U = 0,$$

which implies

$$\begin{aligned}
& g(R(\xi, Z)R(Y, V)U, \xi) - g(R(R(\xi, Z)Y, V)U, \xi) \\
(3.16) \quad & -g(R(Y, R(\xi, Z)V)U, \xi) - g(R(Y, V)R(\xi, Z)U, \xi) = 0.
\end{aligned}$$

Making use of (2.11), equation (3.16) reduces to

$$\begin{aligned}
 & R(Y, V, U, \xi) \eta(Z) - R(Y, V, U, Z) \\
 &= \eta(Y) R(Z, V, U, \xi) - g(Z, Y) R(\xi, V, U, \xi) \\
 &\quad + \eta(V) R(Y, Z, U, \xi) - g(Z, V) R(Y, \xi, U, \xi) \\
 (3.17) \quad & + \eta(U) R(Y, V, Z, \xi) - g(Z, U) R(Y, V, \xi, \xi).
 \end{aligned}$$

Contracting over Y and Z in (3.17) and using (2.11), we obtain

$$(3.18) \quad S(V, U) = -(n - 1)g(V, U).$$

In consequence of (3.4) and (3.18), we get

$$\begin{aligned}
 & 0 \\
 (3.19) \quad &= (\lambda + 1)(n - 1)g(V, U) + (n - 2)g(\phi V, U).
 \end{aligned}$$

Setting $U = V = \xi$ in (3.19), we get

$$(3.20) \quad \lambda = -1.$$

Thus we conclude that

Theorem 3.3. *If (g, ϕ, ξ, η) is a Riemann soliton on para Sasakian manifold M^n admitting the class C_2 , then the Riemann soliton on M is always shrinking.*

3.3. Riemann solitons on para Sasakian manifolds admitting the class C_3 . Here, we take para-Sasakian manifolds satisfying the condition

$$(3.21) \quad (R(X, Z) \cdot C)(Y, V)U = 0,$$

which implies

$$\begin{aligned}
 & g(R(\xi, Z)C(Y, V)U, \xi) - g(C(R(\xi, Z)Y, V)U, \xi) \\
 (3.22) \quad & -g(C(Y, R(\xi, Z)V)U, \xi) - g(C(Y, V)R(\xi, Z)U, \xi) = 0.
 \end{aligned}$$

By the help of (1.6), (2.8)-(2.13), we get the following

$$(3.23) \quad g(R(\xi, Z)C(Y, V)U, \xi) = C(Y, V, U, \xi)\eta(Z) - C(Y, V, U, Z),$$

$$(3.24) \quad g(C(R(\xi, Z)Y, V)U, \xi) = \eta(Y)C(Z, V, U, \xi) - g(Z, Y)C(\xi, V, U, \xi),$$

$$(3.25) \quad g(C(Y, R(\xi, Z)V)U, \xi) = \eta(V)C(Y, Z, U, \xi) - g(Z, V)C(Y, \xi, U, \xi),$$

$$(3.26) \quad g(C(Y, V)R(\xi, Z)U, \xi) = \eta(U)C(Y, V, Z, \xi) - g(Z, U)C(Y, V, \xi, \xi).$$

Using (3.23), (3.24), (3.25) and (3.26) in (3.22), then contracting over Y and Z we obtain

$$(3.27) \quad \begin{aligned} & S(V, U) \\ &= \frac{(n+r-1)}{(n-1)}g(V, U) - \frac{(n^2-n+r)}{(n-1)}\eta(V)\eta(U). \end{aligned}$$

Now in consequence of (3.4) and (3.27), we get

$$(3.28) \quad \begin{aligned} & \left[\lambda(n-1) - \frac{(n+r-1)}{(n-1)} \right] g(V, U) \\ & + \frac{(n^2-n+r)}{(n-1)}\eta(V)\eta(U) + (n-2)g(\phi V, U) \\ &= 0. \end{aligned}$$

Setting $U = V = \xi$ in (3.10), we get

$$(3.29) \quad \lambda = -1.$$

Thus we can state

Theorem 3.4. *If (g, ϕ, ξ, η) is a Riemann soliton on para Sasakian manifold M^n admitting the class C_3 , then the Riemann soliton on M is always shrinking.*

3.4. Riemann solitons on para Sasakian manifolds admitting the class C_4 . Here, we consider para-Sasakian manifolds satisfying the condition

$$(3.30) \quad (E(X, Z) \cdot C)(Y, V)U = 0,$$

which implies

$$(3.31) \quad \begin{aligned} & g(E(\xi, Z)C(Y, V)U, \xi) - g(C(E(\xi, Z)Y, V)U, \xi) \\ & - g(C(Y, E(\xi, Z)V)U, \xi) - g(C(Y, V)E(\xi, Z)U, \xi) = 0. \end{aligned}$$

Now by the help of [5], we get

$$(3.32) \quad \left(\frac{r}{n(n-1)} + 1\right)[S(V, U) - \left(\frac{r}{n-1} + 1\right)g(V, U) - \left(\frac{r}{n-1} - n\right)\eta(V)\eta(U)] = 0.$$

$$(3.33) \quad S(V, U) = \left(1 + \frac{r}{n-1}\right)g(V, U) + \left(-n + \frac{r}{1-n}\right)\eta(V)\eta(U).$$

In view of (3.4) and (3.33), we obtain

$$(3.34) \quad \begin{aligned} 0 &= \left[\lambda(n-1) - \left(1 + \frac{r}{n-1} \right) \right] g(V, U) \\ &\quad - \left(-n + \frac{r}{1-n} \right) \eta(V) \eta(U) + (n-2) g(\phi V, U). \end{aligned}$$

Replacing $U = V = \xi$ in (3.34) also using (2.2) and (2.9) it follows that

$$(3.35) \quad \lambda = -1.$$

Thus we can state

Theorem 3.5. *If (g, ϕ, ξ, η) is a Riemann soliton on para Sasakian manifold M^n admitting the class C_4 , then the Riemann soliton on M is always shrinking.*

REFERENCES

- [1] T. Adati and K. Matsumoto, *On conformally recurrent and conformally symmetric P-Sasakian manifolds*, TRU Math., **13**(1977), 25–32.
- [2] C. Udriste, *Riemann flow and Riemann wave*, Ann. Univ. Vest, Timisoara. Ser. Mat.-Inf. 48(1-2) (2010), 265-274.
- [3] C. Udriste, *Riemann flow and Riemann wave via bialternate product Riemannian metric*. preprint, arXiv.org/math.DG/1112.4279v4 (2012).
- [4] C. Ozgür and M. M. Tripathi, *On P-Sasakian manifolds satisfying certain conditions on the concircular curvature tensor*. Turk. J. Math., **31**(2007), 171-179.
- [5] C. Ozgür and M. M. Tripathi, *On P-Sasakian Manifolds Satisfying Certain Conditions on the Concircular Curvature Tensor*, Turk J. Math., **31**(2007) , 171-179.
- [6] C. S. Bagewadi and Venkatesha, *Some curvature tensors on a Trans-Sasakian manifold*, Turk J Math., **31** (2007) , 111-121.
- [7] C. Ozgur, *On a class of Para-Sasakian manifolds*, Turkish J. Math., Turkish J. Math., **29**(2005), 249–257.
- [8] D.G. Prakasha and B. S. Hadimani, **-Ricci solitons on para-Sasakian manifolds*, J. Geom., **108** (2017), 383-392.
- [9] D.G. Prakasha and P. Veerasha, *Para-Sasakian manifolds and *-Ricci solitons*, Afrika Matematika, **05**(2019), 1-10, doi: **10.1007/s13370-019-00698-9**
- [10] G. Perelman, *Ricci flow with surgery on three manifolds*, <http://arXiv.org/abs/math/0303109>, 2003, 1-22.
- [11] G.P. Pokhariyal and R.S.Mishra, *Curvature tensor and their relativistic significance II*. Yokohama Math. J., **19**(2), 97–103 (1971).
- [12] G.P. Pokhariyal, *Relativistic significance of curvature tensors*. Int.J. Math. Sci., **5**(1), 133–139 (1982).
- [13] G.P. Pokhariyal and R. S. Mishra, *Curvature tensor and their relativistic significance*. Yokohama Math. J. **18**(2), 105–108 (1970).
- [14] I.E. Hirica, C. Udriste, *Ricci and Riemann solitons*, Balkan J. Geom. Applications. 21(2) (2016), 35-44.

- [15] Jae-Bok Jun, Uday Chand De, and Goutam Pathak, *On Kenmotsu manifolds*, J. Korean Math. Soc. **42** (2005), No. 3, 435-445
- [16] K. Yano and S. Bochner, *Curvature and Betti numbers*, Annals of Mathematics Studies 32, Princeton University Press, 1953.
- [17] L. P. Eisenhart, *Riemannian Geometry*, Princeton University Press, 1949.
- [18] R. S. Hamilton, The Ricci flow on surfaces, Mathematics and general relativity, Contemp. Math., 71, American Math. Soc., (1988), 237-262.
- [19] Saikh, A. A. and Kundu H., *On equivalency of various geometric structures*, J. Geom., doi: **10.1007/s00022-013-0200-4**.
- [20] S.E. Stepanov, I.I. Tsyganok, The theory of infinitesimal harmonic transformations and its applications to the global geometry of Riemann solitons, Balk. J. Geom. Appl. 24 (2019), 113121.
- [21] Y. Ishii, *On conharmonic transformations*, Tensor (N.S.), **7** (1957), 73-80.
- [22] Z. I. Szabó, *Structure theorems on Riemannian spaces satisfying $R(X, Y) \cdot R = 0$, I (the local version)*, J. Diff. Geom. **17** (1982), 531-582.
- [23] Z. I. Szabó, *Classification and construction of complete hypersurfaces satisfying $R(X, Y) \cdot R = 0$* , Acta.Sci.Math.,7 (1984), 321-348.

Raghujyoti Kundu

Department of Mathematics, Raiganj University of Uttar Dinajpur, P.O.Box Raiganj, Raiganj, India

Email: raghujyotiblg@gmail.com

Ashoke Das

Department of Mathematics, Raiganj University of Uttar Dinajpur, P.O.Box Raiganj, Raiganj, India

Email: ashoke.avik@gmail.com

Ranjit Saibya

Department of Commerce, Mathabhanga College of Mathabhanga, P.O.Box Mathabhanga, Coochbehar, India

Email: ranjit.saibya@gmail.com

Ashis Biswas

Department of Mathematics, Mathabhanga College of Mathabhanga, P.O.Box Mathabhanga, Coochbehar, India

Email: biswasashis9065@gmail.com